we numbers of proper subset of the set (3, 4,
, 6, 7) 1S
32 b. 31
30 d 25

PYQ Nov. 18
fA=(1234,567) and B=(2,4,6,8).
Cardinal number of A — B is:
. 4 b. 3
AR g 7

PYQ June 19.

fA=(1,2,3,4567829)
B=(1,3,45738)
C=(2,6,8) then find (A — B)uC

a.  (2,6) b. (2.6,8)
¢ (2689 d. Noneof these 4

e e I
The no. of subsets of the set (3,4, 5)is
o b. 8

C. 16
(A") =2

a. A

C. AT.AT

This que is frontm

Two finite sél
number of ele
subsects of the first is 56 more than the total
number of subsets of the second. The value of x
and y respectively.

0. 6and3 b. 4and?2
C. 2and 4 d. 3_.‘."“’ 6 :
. PYQI

The set of cubes of the natural number is:

a. A null set

A finite set

An infinite set

A finite set of three numbers

DS

(8)  The set of cubes of natural number is

a.  Null set

b. A finite set

¢.  Aninfinite set
d.  Singleton set

_ PYQ Jan. 21
(9  The number of integers from 1 to 100 which
¥ areneither divisible by 3 nor by 5 nor by 7 i
b. 55

d. 33 \
= -~ PYQJuly2t
Let U be the universal sef, A and B are the

L. 67
. 45

compl 0 'A'and B respectively):
: - b 200

i) - ',,ﬁnitemshavexandyﬁumberaf
"\ clements. The total number of subsets of first
is 56 more than the total number of subsets of
second. The value of x and y is:

| a. 6and3 b. 4and2
¢ 2andé d. Jand 4
B sk Pl 1 T  PYQ June 22
(12) Given A=(2, 3), B = (4, 5), C = (5, 6) then
Ax(BnC) is
a {25350 b {(52)(53)
c. [(2,3)(55)} d.None of these

%

i R N
S w L e TR 8 -

(13) Ifthe universal set E = (x:x is a positive integer
<25), A=1(2,6,8,14,22), B=(4,8,10,14)
a. (AnB)=A'UF
b. (ANB)Y=A'nB

¢ (A'nB)=¢

d.

(14) In a town of ¥ 20,000 families it was fou

% that 40% families buy newspaper A, 208
families buy newspaper B and 8 '

buy newspaper C, 5% fai




DSOL NSTOUOITS WITE ¢ sy rwme=" =

72

@1) I a survey of 100 boys it was found that 50

(15) The number of items in the set
se!BisSZ;inﬂwsetCissﬂ:inw.«'.nM'B
isthtboﬂtAmrdCiss;:‘nbatthdC?m
all the sets 2. Howmnyminat!mstone{f
the set?

a. 110

[ 108 1L
(16) Out of a group of 20 teachers

% teach Mathematics, 9 teach Physics and 7
teach Chemistry. 4 teach Mathematics and
Physics but none teach both Mathematics and
Chemistry. How many teach Chemistry and
Physics; how many teach only Physics?

b. 3,2

a. .23
RS L N S
2 T R A

@) IFA-(123457,8,9) and B=(2,4,67,9) then

how many proper subset of ANB can. be

TR

i .ﬂ-.d]-‘ = | )
then (A—B)x(B~C) is equal to: % '.c)
a. {(ad)(cd) . {(a,c)(a,d)}

¢ Mca)da)l d {ac)ad)bd)

used white shirts, 40 red shirts and 30 blue

shirts. 20 were habituated in using both white
 and red shirts. 15 were using both red and
e 30 d. gg

R —

A s 40; in the

in a school, 10

(18)  The number of subsets of the set 0, 1, 2, 3) .\

" If A={2,4) and B=1{12.3}then
i ?AuB)foﬁ‘Bﬁ’ﬁﬂB:
(1,222,032
{(1,2),(2,2)(2,3)(2
S (222024
4 [(1,2,2,2(32),(42)

a.

@3) If B=11,2,3,4,5], then the numbe
subsets of B is i
a 120

e 31

b. 30N
4. 3248

C={5,6)

50(2,6)) |
3/1),(2,3),(4,1),(2,4
(16026 .

If a set contain n elemen

\ mumber of proper subsets
e -1
e

-*-?Q-n;p i wilo
o o gt vt gk
o v 60T Sk
10 4 il
1,3 atons :
16 & 45
418 W* 3y



C j
sﬂ‘- Relations and Functions

Sets

'.(;o)mu s LAY 0 iy LU
L The set having n === .
Test Paper Questions & Smg!etfﬂ :d element is called
b.  Null
MTP] ull set
The number of proper subsets of the m c.  Finite set
sef (3, 4, d.  Infinite set

5,6, 7l1s
a 32
. 30

A3 Wl e Ve R

(A1) IfA=(1,2,3,4,5) and B = (6, 7, 8,9}, then
cardinal number of Ax B is:
a 20 b. 5

If A and B are two sets A = (1, 2,3,4} and B—
(2,3 A} then (A-B)u(B-A)

PR ! L b. (1,23}

c. (13 d. {I 2 3 4}

The number of subsets [I % 5] :s.
a. 3
C 6

i_f.4={l,2,3456?! tmdB f246}CardmaI

number of AUB J ey
a 3 b. 16 ' x:2), (4 2),(4,4), (4,5)}
c. 5 d 7 {(2,2), (’2 4). (4,23.- (4,4)]

if A ={1,2, 3, 4 and B.= {5, 6, 7.6

cardinal number of the set AxB is. B. If n(A) = 300, n(B) = = 400 and n m nB)=

200, then n (A A B') is equal to 400 provided

. 7 sy
c 16 n(Z) is equal to
R a. 900 b. 800
If A=11,2, 3,4 5 andiB e i S L. 55

O AL, B 2.3, C= {561 then T
o (25,65 b (42.@6)
C (43, @) 4 noneofthese

cardinal number of AXB is:

(16) ffA={1, 2,3), B = (3,4 and C = (4,561, then
Ax(BNC)

o (14,248,649

b {(14), 24, GH

. (34,29

paetati: 4 (1,2),(,49.0.6,

.. (A'UB) b AnE |

C A'UB’ d. none these

IL"-‘I‘I

IfA={p,qrs}, B=48 ¢ and C={m . 4
nl find C—(AnB) -
a  (m,u b. {p,q}

L {T, Sf i’. {?pﬂ

(3,4}} |

| 17 mﬂniuse&shmm um’!u elem i
ofsubsetsofﬁrst set i




f23)
g

x—yeA

. x+yeA b.
weA

uun—tlE.' L
o, . o e
oE "

(20) A town has a total papuiunmr afSﬂ.ﬂﬂD Ouwf

::zsammthawwxmzmwwd
Y-while 4,000 read both the papers. The number

afpemusuurrwdmgXaﬂdYbﬂfk is
a. 2,000 b. 3,000
c 2500 none of these

‘mw 1 e 1

Q1 In -a 5uruey nf 300 companies, the number of
¥  companies using different Media-Newspapers

(N), Radio (R) and Television (T) are as follows:

#(N) =200, n (R)= 100, (T) = 40, n(N~ R) =

50, n(R~ T) = 20, n(N R) = 25, and n(N~
~ T) =5, Find the numbers of companies

Out of total 150" students
Accounts, Mmﬁwmmw,mdsoinm}s 30
in both Accounts and Maths, 32 in both Maths
and Economics, 35 in both Accounts and
Economics, 25 students passed in all the three
subjects. Find the numbers who passed at least

in anty one of the subjects:
" ARIRY - A0 S b 53
e s d_ noneof these

(24) IfA=(0,1,234,5) then the no. of subsets of A
a. 64 b. 63

C

61 d 60

~ 2,

- ~
4 ':f anayv Popaot

~ MTPDec22 5 s I
(19) maummqmq,ﬂmtmm
% andlet xe AyEA, then

e . ,,11
mu Outafzomubersm fﬂ"ﬂ

tea and 14 like coffee. Assume o
the two drinks. Find

; ._«.j'_ il -.f.'..:" >
27) Ina sumy of
(N), Radia (R) at 4 1
N(N) =200, HR)=3

30 0 . yalid ]'w d_ mf

If A—{p,q,r.s}.s-[q,s,t},(:af
Find C-[ANB] .
a. (mnl b.
g drst g_. "

"'9’ F“"’"'S""‘qumm
¥ in music, 70 in ography

swimming, ﬁqﬂmmre iﬂw'
bothmnsicm' :

mﬂsmﬂmmaa
mmum
mdsmngi'
a. 30
e

“ (‘ZZKLﬂw.x
b. {ﬂ'le‘qa'w ¥




- MTP June 24 ¢
Out of total 150 students, '
Accounts, 30 in Economics and 50 in Magh 3’{;
int both Accounts and Maths, 32 iy bﬂﬂtM;fha
and Economics, 35 in both Accounts ang
Economics, 25 students passed in all the Hivee
subjects. Find the numbers who passed atleast

in anyone of the subjects:
PR b. 53
¢ - 73

ATP T

it that

LR

32) In a town of 20,000 fam:

40% families buy newspaper A, 20% families
buy newspaper B and 10% families buy
newspaper C, 5% families buy A and B, 3% buy
B and C and 4% buy A and C. If 2% families
buy all the three newspaper, then the number of
families which by A only is:

b. 6300

g. 6600
c. 5600 !

6, 71is
2, 32
cx o930
1 b
4 d
7Ng
10 b
13 d
16 a
19 d
2 a
25 a
28 a
31 b
!{1'."1.':“'.'.'?‘
Past Year Questions
_‘._f__,f'lg- 21 ™
M If A=(1, 2) and B = (3, 4). Determine
number of relations from A and B
& 3 b. 16
-‘_‘h_‘_‘_-__'_ —

d.  None of these

A MTP June 24 Series ITT.
33) The number of proper subsets of the set {3, 4, 5,

@ “ASG L84 ... 1008 rationon A,
R={(1.yJ!x+y=10,xEA,yeA,xzy}
then domain of R is
a. {Ir 2133445.,

b. (0,3,5,7,9)
¢ (1,2,4,56,7)
d.  None of these
B)  In the set of all straight lines on a plane which

of the following is

\@nd b is an even integer. This relation is

" Let A =(1,2,3) and consider the relation R =
1(1,1)(2,2),(3,3),(1,2),(2,3),(1.3)] then Ris:
a.  Symmetric and transitive

Given the relation R=((1,2),(2.3)} on the
set A=(1,2,3], the minimum number of

ordered pairs which when added fo R make it

equivalence relation is
a s.ﬂ . |

A Sranayv P@UJ"
CA. Frei :



Asfl,z 3;MWM

(8 Consider the fnl'lmwng rdnﬂons on M) 3.3)
A={1,2,3}, R=H(11),(1,2)(1,3)(3,3)}, R={(1,D)(2, 3).(2.21.(_ 3_:_ (1,
5 = “I:Ut'fla Z}f(znl}:fzf 2}1{ 3! 3)} r a‘ . d_
T=((1,D,(1,2,(2,2(2.3)} and = emply L -

i ivalence M LIRS g

se:;ﬂ:::c;h one of these forms an equ 1 v the o of Imes, beirlg
T R ; b S satisfies which propeﬂ'y
R d o ; Reﬁe:rrw

2 A e L mm
@ Let A=(123) amd consider the relation
R={(1,1,(2,2X(3,3)1,2),(2,3),(1,3)) :

then R is !
@ Reflexive but not symmetric a. Rf«'ﬂt

b. Reflexive but not transitive
¢  Symmetric and Transitive
d Neither symmetric nor fransmve
mm
2

b
d
a

8 S L T ANE
Relations . v I

Mock Test Paper Questions

I”ﬂf‘;' Year L_]_'H sfrons I

@ Let N be the set of all natural
the set of all even natural mu
Sunction f : N""‘EW

@ I.efA={L2,3.l then !hamhﬁonﬂm o
3),(2.2),3,3), (1,2) i b,
i Syimmc b. Transitive

@ Lt A=(123} then the
a Symmﬁc b Tmamu:
e A e




L

e

.
C

d R =l(apl (b r (C.q},rd,sﬂ

.
C.

flx)=222 find r (x)
a 1x-1)

o e

1dentify the function from the

(LI(L,2(1,3) g
(1,DA2,1),(2,3))
{(1,2)(2,2X(3,2),(4,2)}
None of these

Sl gl

ff flx)=x" and 8(x)=+x then

goff3)=3 b. gofi-3)=9
gofi9 =3 d_gof9)=3

R, ={(b,p)(c,s) b}

ifA=(ab ¢ d) B= fﬁq,r,sjmofﬂu
faﬂaw:mz relation is a function from A to B
a. =[(a,p).(b,q).(c,s)} .

b. R, =1(p.a)(b,r),(d,s)]

3 b. §
8

fx)={x* for 1<x<3

fin)= ﬂn-1}+ﬂu—21whenu-2,3 4. _ .
fi0)=0, f(1) =1 then f7) =2

3x for x<1 wj!

mmlueofﬂdhﬁz}-l-}uﬂs '
4.1, b, 14

& 5

e I!_- s T | Y
The range of the function f defined Y
f=y16-2 is 3 ;
“ (4,0 S
¢ 0,4] o

% Lt A= RGG) and B - RA1). Let fix) > B

defined by fix) = =2, What i the value of
1| 1

i [2]?

i) K b 34

= ! d =1

?:" Iffix) =x*- -1and glx) = P_zq.j' then
I!ngt’aj ~gof(3)]is?

m) fffm

 fa)=x+3, waﬁ.mf' M'ﬂ
a. o b, -;-*—-é* '
Al 4

d 3x+4




A

=
=2
=

\’{Tl;\. ]:'\f P prer L)l‘a.“ ‘” %

|

(1)  Findfog for the functions
flx)=x",g(x)=2x"+1
22 +1) b. g‘

=
e
- =

!PF

@ IfA - r1,2.3,4} nnd B = {1,4,9 16,25} is a
function of f is defined set A to B where fix) =
x 2 then the range of f is
a (1234 b. (149,16}
¢ {1,4916,25)] d. noneof these

g
=

.
C.
L~ e

8
2 B

Ifflx) = x+3 and g(x) = x2,, then fog(x),
& %43 b ::+. k-
(x+3P

g
it




m&g Relations and Functions

16 if f(x)=x"~1 and Sth-——x” (then . flx)= s -2 143
__,I.{_'?—}-—IIS QI:) ]f fIJ:: % 0 i L eries I
F3)+803) J(0)=' -5, eonluate f (3 F ), £ 5)
: and f(1).
o b e W 001200 . b L1124
2 e 11 20,4
17) ;fﬁﬂ— thﬂtflfo If flx)= and g(x)s ok
31”’ Ji-7
a. .?(I IJ b.  2Ax+1) fog?
e TR Lo GV ZiN1-2 o
k=g x+1 fane 2023 Serie

(18) !'ff E—=R Isaﬁmm
flx)=2" ; then fixty) is

a  fix)Hfly b. fix). fiy)
c. fix)+fy) d none

(19 If flx)=x+2, g{x}=7' 'm,,gafm_ 7x+27 b. 742

a 7*x+27" b. 732
¢ 4%7°)

(20) Let R be a relation on N defined by x

The domain of R is:
a. (2,48
c. (2,46}

(29) Let R is the set of real numbers, such that the
ﬁ;m:th‘n f:R->R and g:R—>R are

G W hy ﬁg)-fw-t-x. and

R is the set of real numbers sich that the
e ;:,;m f:R->R and g:R—>R are

fined by fo=edxel and
&(ﬂ-k-3 Find (ﬁ -
a 4x’+£m+1 b mmi 4

(22)

Determine ftx) , given that f(x) = 12%° =4
and f(-3) =17

= ft'x)=4x‘-—?.x’ +143 m} ng(ﬁf{,ﬁwapﬁﬁ

b f(x)=6x"-x"+137 T 3 1, § » d
¢ fx)=3x'-x'-137 " 1 -

+nayv Popdt

o £ CA. Pra
Cmpiler - Quantitative Aptitude EION < _




e

(32) Findfo g for the functions

flx) = g(x)=2x" +1 |
« e b7 ol
¢ 2+l d (2 +1) . I

63 If flx)=x+2.500)=7" then g of (x)=

i 7xx+27x b, 7x42 ‘
?x} d. Noneof these -

X=lxy,z0hY=(123,
H={(x,1;(y, 25 (¥, 3)( z,4)5(x,4)
a.  Hisafunction fromx toy

b, His not afunction from x to y
¢ Hisarelation fromy lox
4 Noneofthese
D T :

A R &R AR SR

ﬂ'-ﬂﬁhq‘lnva“nvh
RS T AR

&.Eﬁ'afﬂﬁﬁ'at"‘naw&u -

w f l-i:&-‘.. ﬁl.‘ﬁwh’ 'lflﬁ' '.r'lill b T
e B P40 L S s VI TR T

_.;!_m

= lt[?




